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: ference to
Consider the following statements with €

the Workers and Peasants Party :

1. The Workers and Peasants Party
1927 and was given the form ©
Organisation.

2. The objective of this party was t
the Congress so that it could be
revolution inclined party and an Org
the common peop|gn)

Which of the above statBients is/are correct 7

(a) Neither 1 nor 2 ) Both1and 2

(c) Only2 <jd) Onlyl
™

was fOﬂ'ﬂed i."
fﬂn A" lndla

o work within
made a more
anisation of

™ .
Consider the following events and arrange them 1n

chronological order :
1.  East India Association Egg
2. National Indian Association
3. Indian Society
4. Indian Association
Select the correct answer from the codes given below :
(@ 1,3,2,4 ) 1,2,4,3
() 1,2,3,4 ~d) 2,1,4,3

<t

Consider the followingﬁ elents and arrange them in
correct chronological oﬁér starting from the earliest
to the last activity : o

1. Royal Indian Navy Revolt

2.  Announcement of Cabinet Mission

3. Formation of Interim Government

4.  Arrival of a UK Parliamentary Delegation in

Delhi
Select the correct answer from the codes given below -
(@ 4,1,2,3 () 4,3,2,1
© 2,4,1,3 LD 42,1,3
)
Consider the followin fs‘lflemenls ith
AP with reference to
the Justice Party : <t

1. The Justice Partyfg“g' osed Congress by calling
it a Brahmin dominated organisation,

2. It claimed lhe_same communal representation
for non-Brahmms‘as the Morley-Min(qo reforms
had given to Muslims.

Which of the above statements is/are correcy ?

(a) Neither Inor2  (b) Bothlangp

(d) Only |

DST.F-1-23
o G ferea ardl F w § Frefafad st w
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1. ok U st ardl o e 1927 H geT s @
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2. e SR v =
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Given below are two statements, one is labelled as
Assertion (A) and the other as Reason (R).

Assertion (A) : The value of national currency
determined by demand and supply of foreign
currency is called flexible exchange rate.

Reason (R) : Demand and supply of the foreign
currency is being determined by the Central Bank.
Select the correct answer from the codes given below :
(@) (A)is false, but (R) is true.

(b) Both (A) and (R) are true and (R) is the correct
explanation of (A).

(A) is true, but (R) is false.

Both (A) and (R) are true, but (R)’is not the
correct explanation of (A).

(©
d

Given below are two statements, one is labelled as
Assertion (A) and the other as Reason (R).

Assertion (A) : There is a positive relationship
between Human Development Index (HDI) and the
Sustainable Development Goals (SDGs) rankmg of
Indian States.

Reason (R) : The underlying dimensions of SDG
targets are closely related to education and health
aspects.

Select the correct answer from the codes given below :
(a) (A)is false, but (R) is true.
(b) Both (A) and (R) are true, but (R) is not the
correct explanation of (A).
(A) is true, but (R) is false.

Both (A) and (R) are true and (R) is the correct
explanation of (A).

©
(@

Match List-I with List-Il and choose the correct
answer using the codes given below the lists :

DST.F-1-23
5, S e R, fEE 4w S A (A) qur
R (R) FE TR |

ifree (A) : TS TR %1 9% qed &t fraeft g
it 3ffe 27 510 a4 ot 8, 39 T R FE 2

T (R) : Foreft g i mim 3 ammqfd &=t & g
fraffaad 21
A3 Ry e e 3 & wd s g
@ (A)TEEE, Ry (RFEE |
() (A)W(R)aﬁv'é’r%aﬂtm), (A) F T
- TG HET 8 |
(A) TR, g (R) e R |
(A) T (R) 31 &2 €, Ty (R), (A) 1 &
ST g HT 2 |

6 A sy e Rume E, R & T st (A) A
',za‘(-q'?rm(R)mw%l

','M(A) e g gusis (W EaE.)

*;@wmt@
: -__grf@miﬁnmﬁzﬂ%

| FRT (R) : wga frm aedt & ST A &
: ;-m@ﬁmﬁm%mm%l

l S

(©
@

L (A)TEA R, %(R)‘a'ﬁﬂ‘%|
(A) 7T (R) 3FT @@, R ), (A) T &
‘_:-” ST T FTR |

! (A) TR, g ®) e |
ﬁﬂ(d) (A) @1 (R) 3HT @& § 3R R), (A) H T
Vi | RATRTHFAT S |
@ @wﬁ@nﬁg&maﬁmaﬂmﬁamﬁﬁq
m@mmmuﬁmgﬁu
Cwdhr ghnl
@) (2019-23% FRH recici]
A mg o f1 oy
. 2.
3. -
4. iﬁ%@

List-I List-IT
(State) (Rank according to expenditure
on infrastructure 2019 — 23)
A. Maharashtra 1. First
B. Uttar Pradesh 2. Second
C. Tamil Nadu 3. Third
D. Karnataka 4. Fourth
Codes :
A B C D E&% :

(@ 2 | 3 4 =
®b 1 2 3 4
) 2 3 1 4
@ 4 1 2 3
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10.

11.

12.

........................................
..............................................................
......................................

The Concurrent list of the Indian Constitution
includes :

1. Tradc and Commerce @&a

2. Adulteration of Goods =}

3. Succession

Sclect the correct answer from the codes given below
(@ 1, 2ond3 (b) 1ondl

(¢) 2andd : O(d) Only !

Fathima Beevi dicd roceptly. Consider the following

statements regarding her:

1. She was the first Woman judge of the Supreme
Court of India. 1

2. She served as the Govemor of Kerala from
1997 - 2001.

3. She was the first Muslim woman to enter into
higher judiciary.

Select the correct answer from the codes given below :

(a) land3 (b) land2

(c) 1,2and3 (d) Onlyl

With reference to the "N'htional Intellectual Property

Rights Policy™’ conside‘r'lhc following statements :

1. It reiterates lndip’ls; commitment to Doha
Development Agendaand the TRIPS agreement.

2. Department of ]ndugir!al Policy and Promotion is
the nodal agency' for regulating Intellectual
Property Rights in India.

Which of the above statements is/are correct ?

(a) Neither I nor2 (b) Only2

(c) Both1and2 (d) Onlyl

Which Amendment Acts deal with Local Govemance
Institutions in India ?

(a) 86" and 87 Am,:‘mlimem Acts

() 63" and 64" Amendment Acts

(c) 73" and 74% Amendment Acts

(d) 42" and 43" Amendment Acts
-

Consider the followiné statements with reference to

Special Officer for Linguistic Minorities :

1. In the Constitution, there is a provision for the
post of Special Officer for Linguistic Minorities
for every State.

2. A new Anicle 350 B was added for this by the
gth Constitution Amendment Act.

Which of the above statements is/are correct ?

(a) Neither | nor 2 (b) Only2

Both 1 and 2 (d) Only 1

(

11.

DST.F-1-23
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(c) 1323E (d) a1
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(a) 86al 3R 87l wIaA AR

(b) 633t 37T 64T GyTEA AfafEw

(c) 73ai 3N 74af sy fufrm

(d) 42af 3 43af Gy aAfufm
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14.

15.

16.

- Given below are two state

" Reason (R) : They comp

ments, o

as ReasOn
Most of the KR ):

Assertion (A) and the other
Assertion (A) :

e
considered British rule ag iy acfﬂgf Nationalists
Providence

destined to bring modemisatiop_

“Un-British rule” in India,
Select the correct answer from the code
(@) (A)is false, but (R) is trye.
(b) Both (A) and (R) are trye,
correct explanation of (A),
(A) is true, but (R) is false,

Both (A) and (R) are true and
explanation of (A).

S given below :

©
(d)

Which one of the following statements is not correct

about William A.J. Archbold ?
(@

He was the Principal of Lahore
Lahore.

(®)
Dacca.
©
College, Allahabad.

@

Consider the following events and arrange them in

chronological order starting from the earliest :

1. Vellore Mutiny

2. Death of Nana Fadnavis

3. Recall of Wellesley

4. Anglo-Nepalese War

‘Select the correct answer from the codes given below :
(a) 4,1,3,2 () 2,3,1,4

) 3,1,2,4 d 2,341

Match List-1 with List-Il and choose the correct

answer using the codes given below the lists :

List-I List-11

(Revolt) (Leader)
A. Paika Revolt 1. Edachena Kungan
B. Bareilly Revolt 2. Radharam .
C. Malabar Revolt 3. Mufti Muhammad Aiwaz
D. SylhetRevolt 4. Jagabandhu Bidyadhar

Mahapatra
Codes :
A B C D

(@ 3 4 ) 2
® 4 3 1 2 e
© 2 1 3 4 B
d 3 2 1 4

D€ is labelled ag

lained only against

but (R) is not the

(R} is the correct

College,

He was the Principal of Government College,
He was the Principal of the Muir Central

He was the Principal of MAO College, Aligarh.

14,

15.

16.
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17.

18.

19.

20.

With reference to the “Kohima Peace Memonal ;m :

Eco-Park” which of the following statements is/2r¢

correct 7 )

1. Its inauguration programme
gh March, 2024 at Kohima.

2. It will be developed by South Korea.

was held on

Select the correct answer from the codes given below :
(a) Neither 1nor2  (b) Only2
(c) Bothland2 (d) Onlyl

With reference to “Mobility Arrangement for
Talented Early-professionals Scheme” (MATES),
which of the following statements is/are icorrect ?

1.  This is a bilateral framework betwge‘n India and
Australia. .

2. In this scheme Indian gradﬁ:rtes (aged
18 — 30) with knowledge and skifls n specific
fields of study will be offered to live and work
in Australia for up to two years.

Select the correct answer from the codes given below :

(a) Neither 1 nor2 (b) Only2

(c) Bothland2 (d) Onlyl

With reference to the International anf;erence on

Nuclear Security (ICONS —2024), wﬁi,ch of the

following statements is/are correct ? *-ij:

1. This conference was held on 25 May12024

2. India has recently reconsu ted an
inter-ministerial Counter Nuclearp.Smuggling
Team (CNST) to strengthen the nuclear security.

Select the correct answer from the codes given below :
(a) Neither 1 nor 2 (b) Only2
(c) Bothland2 (d)  Only 1

With reference to the “Pirul Lao - Paise Pao”
campaign, which of the following statements is/are
correct ?

1. This is related to reduce forest lﬁ'r:s and to
provide a source of income to vnllage“ys

2. The Chief Minister of Uttarakhai
this campaign. “T

Select the correct answer from the codes gwdn below :

(a) Neitherlnor2  (b) Only2 ' )

(c) Both1and2 (d) Only1l E‘%%

launched

18.

19.

20.
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Consider the folloWing mountains ang g
em

in correct order from West to East by the;y locati @
on :

;, Karakoram 2. Pontic

5. Hindu Kush 4.  Zagros

gelect the correct answer from the codes given below -
@ 23 4,1 (b) 2,43,

© 4bL2 3 (d) 4,2,3,)

s

Which one of the following pairs (River — Direction) {22 )

is not correctly matched ?

(a) SyrDarya — North-West
(b) Amur river — North-East
© Mekong river — South-West
(d) Angara river — North

which ~onme  of  the  following pairs
(Country — 0Oil field) is not correctly matched z

(2) Kuwait — Kashagan
(b) Iran — HaftKel
(c) Iraq . —  Zubair

(d) SaudiArabia — Dhahran

Consider the following statements with reference to
Mediterranean climate :

1. Itreceives rainfall in winter season.

2. Due to winter solstice, air pressure belts shift to
the South.

Which of the above statements is/are correct ?
(@) Neither Imor2 (b) Only2
(c) Both1land?2 (d) Only!

Consider the following statements with respect to the
climate of Western Europe :

l.  Western Europe receives rainfall in all months.

2. Western Furope is located in the belt of
Westerlies.

Which of the above statements is/are correct 7
(@)  Neither 1 nor 2

(b) Both1and2

© Only2
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7 27
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~
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1. el vy § auf St 21
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3R R STt € |
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(@) TA 1782 (b) Fae2
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I ofvedt gy & wft et f ani ot 2|

2. oftenit i v vei 1 39 ¥ st fua d |
ST A B o w23

(@ TA1382

(®) 1302 3R

() Fa=i2

(d) e
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27.

28.

. rcfcl'ence to
Consider the following statements with

Upper Gangetic agro-climatic region :

S central and westem

1.  This region encompass¢
Uttar Pradesh. .

2.  This region has mor¢ tha 130:% b
intensity and 140% cropping intensity:

Which of the above slulcmgn}s is/are correct ?

® o) Both 1and7

(© ({a\)' Only 1

n

Neither 1 nor 2
Only 2

Match List-] with List-Il and choose the correct

answer using the codes given below the lists ©

List-1 List-T1

(Pass) (Height from Sea Level)
A. Debsa 1. 533_‘69 metres
B. Rohtang 2. 48590 metres
C. Bara-lacha 3. 39:7’8 metres
D. Banihal 4. 28_’7% metres
Codes : ™

A B C D

(@ 3 1 2 4
b 1 3 2 4
(¢ 3 1 4 2
@ 1 4 2 3 g,%%

Given below are two staté@ents, one is labelled as
Assertion (A) and the other’ ;his Reason (R).

L%
Assertion (A) : Jute is an indigenous plant of India.

[y
Reason (R) : Jute is qd}han’f crop sown from
February to June and harvested from July to October.

Select the correct answer from the codes given below :
(a)
(b)

(A) is false, but (R) is true,

Both (A) and (R) are true and (R) is the correct
explanation of (A).

(A) is true, but (R) is false.

Both (A) and (R) are true, but (R) is not the
correct explanation of (A),

27.

28.
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@mm%w@ﬁm%mmmh
ﬁﬁqm@fiﬁnﬁwgﬁq:

(a) (A) T}, B (R) TR R |

(b) (A) 3 ®) 3 @ ¥ 3 @), (&) FF
AT HT T |

(A)H%‘T%,%(R)m%l

(A) 3l (R) 3R W@ &, B (R), (A) #E
e 781 TR |

..................................................................................
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___________

ﬁ Match List-] with List-I1 ang choog
L pswer using the codes given belgy, the lisl[:e Correct

29,
Lis"l LiS‘-II
(Axlrhof) (Book)
. i 1. ACom :
A Lallanji ; PrEhenswe
Gopal India : The Delhj SI:IIE':?&:{ of
" Habiband 2. The Economic Life of
Nizami Northem Indig
c. ks.lal 3. Early Chauhan pypagies
. pasharatha 4. History of the Khuljis '
Sharma Eim
ot chs
A B C D
() 1 2 3 4
(b) 2 1 4 3
© 3 4 1 2 30.
Q) 4 3 2 1
Consider the following statements :
. Kunwar Singh, Landlord of Jagdishpur in
Bihar, led the rebellion against the Britih,
2. Lord Dalhousie recognised the adopted son of
Rani Lakshmi Bai as the heir apparent.
Which of the above statements is/are correct 2
(a) Neither 1 nor 2 (b) Only2 131
(c) Both1land2 (d) Onlyl (@

Consider the following foreign travellers and arrange

them in ascending chronological order :

1. I-Tsing

2. Al-Biruni

3. Huentsang (Hiuen Tsang)

4. Fahyan (Fa-Hien)

Select the correct answer from the codes given below :

(a) 4,3,1,2 (b) 1,2,3,4

() 3,4,2,1 d 2,1,4,3

Given below are two statements, one is labelled as

Assertion (A) and the other as Reason (R).

Assertion (A) : Balban made his government firm

and centralised all authority in his hands.

Reason (R) : He wanted to protect the north-west

frontier against Mongol invasions.

Select the correct answer from the codes given below :

(@) (A)is false, but (R) is true.

(b) Both (A) and (R) are true and (R) is the correct
explanation of (A).

(¢) (A)is true, but (R) is false.

(d) Both (A) and (R) are true, but (R) is mof the

correct explanation of (A).

32.

e9,1:&?‘[(2@:1’?

DST.F-1-23
eh-1 Y -1 & gafem A i ghwt % 19 R
T 52 T TAT FHHE I
eI -1
(AGF) (§&TF)

A. oSt 1. ¥ HhEfee fegh aite e
:ﬁr-rra'ﬁfj 2 foeeh weema

B. WE G 2. T TR AEh S A

farrei ifem
C. a:.m;pr’ir 7l S s
D. T
Eg? -
(a)

o

feh 2its 2 wersitst

(b)

()

(d)

Fraferfad FeEt w faem iR -

1. fw  gerdterge o sdter, e fie 3 il %

Fore (TE o e for L

2. @i @RSt I T @& A % TwE @A
T 81 o WTraT SeE o |

IR T & HET/A o T R/E 2

(a) TA1TE2 (b) FaA2

(d) FEaI1

Frfafiaa Rl @i w faam i aur 3% s

FTTFATIET ST IR

gfeam

iy o

N = & we
= NWwahyg

B LN =

T s
. BEE
2 fe e e & wet Sw g
(@ 4,3,}.2 () 1,2,3,4
() 3,4,24 d 2,1,4,3

o
e <1 e R T €, S & o 1 i (A) e
TE N FRE(R) FeT TR |
AfrHer (A) : S ¥ 37O WTE FY GGG ST AN
Frul T st 319 T 8 ez a fora |
&R (R) : 98 IW-AEW iy ot doe AmFme o
YU AT STear AT |
A3 o e e 3 & e e g -
(@) (A) @, g (R) TR R
(b) (A) WA (R) SHI W& § 3 (R), (A) it Gt
TEAT T 2 |
(© (A)TEE g R)TEa R
(@) (A) T (R) 391 @ &, fig (R), (A) T W
T 75T F1 |

ol il et
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33.

34.

35.

36.

37.

1, 1891
With reference to the Age of Consent AC

consider the following statements : . rmer

1. It was Behramji Malabari, 2 Pars! f{crfo this
from Bombay, who advocated 10
legislation.

2. The Act was supported by the €

led by B}} Gangadhar Tilak.

«tremist Wing

Which of the a ible statements is/are correct ?

(@) Neither Lyor2 (b) Only2

(c) Bothlagnd2  (d) Onlyl'

Given below 4 two statements, 6ife 1S labelled as

Assertion (A) :f:ﬁime other as Reason (R):

Assertion (A)[:\‘ hivaji had to face opp0

the big Deshmukhs.

Reason (R) : These Deshmukhs were

of an independent Maratha State and wanted to

remain as feudal lords of Bijapur.

Select the correct answer from the codes given be

(a) (A)is false, but (R) is true.

(b) Both (A) and (R) are true and (R) is the correct
explanation of (A). ‘E}%g

(c) (A)is true, but (R) is false. Ok

(d) Both (A)-bnd (R) are true, but (R) is nof the

correct e)lé].anation of (A).

Which of the f(ﬂ'_‘lowing reasons caused catastrophic

coral bleaching~ and mass coral deaths in the

Andaman and Nigobar Islands ?

sition from

not in favour

low :

(a) Increase {off 2° C temperature in the Indian
Ocean

(b) Increased industrial activities in the coastal
regions

(c) Decrease of temperature by 4°C in the Indian
Ocean

(d) Heavy marine pollution

Consider the following statements with respect to

Ashoka :

1.  The definition of Dhamma given by Ashoka is
taken frof “Rahulovada-sutta”,

2. In the l_llth year of his coronation, Ashoka
appointed~, @ mnew type of staff, called
Dhammaqgahamatras.

Which of the aboye statements is/are correct ?

(a3) Neither fdor2 (b) Both1and?2

(c) Only2 (d) Onlyl

Which measures are essential to achieve Goal 4 of

the Sustainable Development Targets, 2030 ?

1. Making education free and compulsory

2. Improving basic school infrastructure and
embracing digital transformation

3. Expansion of agricultural programmes

4. Increasing investment in technology

Select the correct answer from the codes given below :

(3) l, 2! 3 and 4 (b) |l and 2

1,2and3

33.

34.

35.

36.

37.

DST.F-Lza

geufa $r srfufm, 1891 %mﬁﬁﬁqﬁﬁe
mq'{ﬁ:;giﬁﬁ'q:

1. g v 3 e AT T, e et

8T s i o aehrerd 1 oft |

2. v\ afufm F are Fme e % e g,
Tt g 3 gued o o

ST B A FH-G1A FUF FE /e ?

(@ FA17E2 (b) FaA2

(c) 13Mm23Ft (d) wad |

1 2 o Ru e F, R & w& AR (A) gy

TE I FA (R) FETTATL |

tfirarer (A) : Rrarsht 1 o2 2erqa 3 forte n ampy

FEAT I |

HRT (R) : ¥ 0@ T FUST U & 94 ° 78 §

S afisiTge 3 | & s e = 3 |

H Ra e e # & v smFRT:

(a) (A)Ta e, g R) TR

(b) (A) 3R (R) aFT @& T AR (R), (A) F &
T FAT 2 |

© (A)FRE FgER) TEaR]

() (A) 3R (R) FFT W E, g (R), (A) FT &
ST TET T2 |

3fgam qur Feprem dee § Frafafad 5§ 3 o Frm
?

(a) o= wemmmFamamd 2° cHiafs e
(b) it & i shehfs e  af Sha
) RemEmIFamEieL chF
(d) W | SENr

7Y & g i Feferfaa el o faam e :

|, oW Y wm & oS uiwwr & R, &
“TgeETeET A TR |
2. A USHTRNG & 143 a¥ o 379 3 UEwET

AT T Al Wbt 3 e ot g il |
IuEjeh & FH-R1/A Fu W R/ ?
(@ AdA1TE2 (b) 13MT2EA
() A2 @ Faal
waa frera @, 2030 ¥ AET4 B WW FH S @
FH-EIA I T 8/2 ?
1. frene fryes i stfrard s

2, ?%gﬁmﬁﬁﬁgﬂﬂaﬂr%ﬁzﬁqﬁﬁ

AT
3. i i fan
4. e fevdafa

3 R o e & @ Wt WA :
@ 1,2,334 (b) 132
© 1,233 @ WL
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i8.

il

th reference 10 Economic Growth,

i whi
ing statements is/are correct 7 ch of the

follow. .
N [ndian Economy Is an Underdevelopcd Bos

5 Indian Economy is a Mixed Economy,
;. ;.M. Keynes is the Father of Economjcs,
gelect the correct answer from the codes given below :
(@ Only 3 is correct.

(®) Only 1 and 2 are correct. o
© Only 2 and 3 are correct. l‘-ﬁ%{j
) Only 1 is correct.

nomy.

List-1 contains the names of countries, whereas
List-I shows the Rank as remittances recejved in the
year 2022. Match List-I with List-II and choose the
correct answer using the codes given below the lists -

List-1 List-I1

(Country) (Rank)
A. Mexico 1. First
B. China 2. Second
C. India 3. Third
D. Philippines 4. Fourth
Codes :

A B C D

@ 2 3 1 4
b 4 1 2 3
€ 1 2 3 4
@ 3 4 2 1

With reference to India, consider the following
events :

1. Nationalisation of Banks

2. Formation of Regional Rural Banks

3. Adoption of villages by Bank Branches

Which of the above events can be considered as steps
taken to achieve “financial inclusion in India” ?

38.

39.

40.

(@ 1,2and3 (b) Only2and3

() Only3 (d) Only1and2 s

With reference to ‘“National Food Security Act”,| ™

which of the following statements are correct 7

I It will cover up to 75% rural and 50% urban
population.

2 It phas special focus on nutritional support 10
women and children.

3. It was enforced on July 5, 2010.

Codes :

(2) 1and 3 are correct.

(®) 2 and 3 are correct.

(€) 1and 2 are correct. {

~{9_1.2and 3 are comeet. ___._.occoomeemm T TR

DST.F-1-23
anfiier wafe & et #, Frafafes & & F-avd w7

TERE?

1. syt STeieaTT U areafaehiye srdeqasn ® |
5 vRdta srdeae o fafia aefsETaT |

3. AT N F I E |

3y g o e @ wE I T

(a) %T:IFIZ'H'&‘T%I

(b) | 32T g E%%
© 3ITAE| =
d) 4 2l

qaﬁ-[ﬁ%?ﬁ%m%,wﬁujﬁ-nﬁaézozzﬁ
it gr St € Tl ) () F STER S
nm%mﬁ?-laﬁzﬁﬁ-llﬂgﬁ%mﬁﬁqaﬂtqﬁﬁ%

ﬁﬁqmgmmmuﬁtwgﬁq:
w1 [ eI
@) <+ @)
A. BfEge! ™. wm
B. = (~2. e
c. v (8. g
D. fchdffa 4. =gl
‘q;\??.’:
A B C D
@ 2 3 1 4
® 4 1 2 3
@ 1 2 3 4
@ 3 4 2 1

3. ﬁawraﬁmnrrﬁra?r}'ﬁ%

I gl #f & fRl/fned «qwia & farfra wwmawe

ST S 3 Tore I3 mar Few e S gt § ?

(@) 1,233 (b) Hhae 233

(c) FaaA3 (d) haer | 32

“ et e e srfufian &gt § Prafafea g @

FHTFYT S & 7

L. gs%maﬁrso'%mﬁmwwﬁwm

I ,

2. 8H Afeenell i sl @rydreor gade o fa

a e m g P

3. W8 5IEME, 2010 T TTT T |
] BN mf?ng

(b) 23R3ITHT e~
() 13m2udE
(d) 1,233 udE
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are correct
42.  Which of the following statements

43,

44,

45.

46.

regarding ICT based e-Governance ?tmns
e-Governance reduces the

Government. ent

overnment.

2. e-Governance reduces the 00‘5! of G gt o
3. e-Governance increases citizens

Government. —— I

parency of

4.  e-Govemnance increases

red tapism. , low
Select the correct answer from th’weu be
(@) 2and3 (b) 73
(¢) 2,3and4 (d) 1,2and3
The UPSC derives its functions from which of the
following sources ?
1. The Constitution
2. Parliamentary Laws E%%
3. Executive Rules and Orders O
4. Conventions ’ _
Select the correct answer from thé.Eodes given below :
(@) 1and3 (b) 1fand2
() 1,2, 3and4 (d) O(n‘l\y 1
Which one of the following is correctly mached ?
Constitutional Body (! Constitutional

{™\ Article
(a) National Commission - 148
for Scheduled Castes
(b) Election Commission - 165
(c) National Commission - 340
for Backward Classes
(d) Finance Commission - 263

Identify the correct chronological sequence of the
following :

1. Shankari Prasad vs, Union of India

2. Sajjan Singh vs. State of Rébjasthan

3. Golaknath vs. State of Punfab

4. Kesavananda Bharatj vs, Stafe of Kerala

Select the correct answer from th{ codes given below :
@@ 3,2,1,4 (b) 1("5' 3,2
© 3,421 @ 12,34

Given below are two statements, ope jg labelled as
Assertion (A) and the other as Reason (R).

Assertion (A) Article 352 of the Indian
Constitution deals with the declaratiop of an
emergency.

Reason (R) : An CMErgency may take Place at ap
time. y
Select the correct answer from the codes pj )
(@) (A)is false, but (R) is trye, Eiven below :
(b) Both (A) and (R) are Ll'llé,rbul )
correct explanation ()f(A)""‘\ (R) is not the
(c) (A)istrue, but (R) s falsc,f“:T‘
(d) Both (A) and (R) are true g

R .
explanation of (A). :lf (R) is the correct

42.

45}

46.

2 Lt

. Ay

4. é-na?mq’lmaa%amﬁam

ﬂ%ﬁqaneﬁémmﬁﬁq:

@ 233 b) 234

(©) 2,334 (d 1,23k3

@E@Wﬁﬁﬂrﬁﬁmﬁﬁ

shﬁﬁm-wﬁsﬁma\?n%/%? ﬁ;”\m

1. dfgum

2. HEMEEE o/ic)

3. e Frm st sy f%‘

4.

1 e & et s

@ 133 £y~ 132

(¢) 1,2,3 34 (d) e |

ﬁn%ﬁ‘gaﬁﬁﬁq-mwuagﬁ%a%?
wifowfs frem LHED) e

-

ATTWT
(2) T g S s — 145
(b) ﬁa‘hﬂ'm - 165
© ateaatamm 340
(d) o 3

18.

19,

ﬁﬁqudﬁﬁﬂiﬁmgﬁq;
@ 3,2,1,4 (b) 1,4,3,2
(c) 3,4,2,1 d) 1,2,3,4
ﬁamﬁqmiﬁiﬁﬁﬁﬁaﬁmﬂmm
ZHL ) I (R) FETTATR |
M(A):Wﬁmwaﬁayz
aTqTasRTe ferfa 6 e § defa )
&HWUT (R) : smaraseia feufy frdt off o s @
T e | .
ﬁﬁqwfﬁdﬁﬁﬂﬁmgﬁq
(@) (AT, g R e y
(b) (A) T (R) IR T E, fg (R), (A) R
ST T8 a8 | .
A) TR, foeg (R) T 21
iﬁ)) EA)W(R)aﬁnﬁ%aﬂt(m,(A)aﬁm‘

il

i P
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51

. of the following freedoms ig nor guaranteed
ntee.

Whlce [ndian Constitution under Article 19 »
edom t0 OWD, acquir N
Fre € and dispose of

prOPefty _
® F reedom to assemble peacefuily and without

arms ;
© Freedom t0 pracns; any trade or
to move freely thr
J) Freedom Y throughout th
(GI) ven below are two statements, one js l:bi(l);:c;
Assertion (A) and the other as Reason R). a
‘\ssertion (A) : According to the Constitution of
ndia, the same Pperson cannot function ag tl?
Governor of two or more States at the same time ¢
geason (R) : Article 153 of the Indian Constirution
states that there shall be a Governor for each State
Select the correct answer from the codes gi-ven
below : ;
(a) (A) is false, but (R) is true.
Both (A) and (R) are true, but (R) j
® correct explanation of (A). ) is not the
© (A) is true, but (R) is false.
(d) Both (A) and (R) are true and (R) is the correct
explanation of (A).
which one of the following pairs is not correctly
matched ?
(a) Equality of
opportunity in public

profession

— Guaranteed only to
Indian citizens

employment
(b) Equality before — Guaranteed to both
Law citizens and

non-citizens
(¢) Altering the name of — Power of a State
a State Legislature
(d) Creating a new State — Power of Parliament
Match List-] and List-II and choose the correct
answer from the codes given below the lists :

List-I List-I1
A. Consolidated Fund of India 1. Article 266
B. Finance Commission 2. Article 360
C. Financial Emergency 3. Article 280
D. Comptroller and Auditor 4. Article 148
General of India
Codes :
@ A B C D
a 4 1 3 2
b 3 1 2 4 E%%
(© 1 i ;. 4 =
@ 1 3 2 4

Which of the following are envisaged by the Right

against Exploitation in the Constitution of India 7
Abolition of untouchability )

2. Prohibition of human traffickin
labour .
Prohibition of employment of childre
factories and mines .
Protection of interests of minorities

g and forced

n in

elect the correct answer from the codes given below -
(@) 3and4 (b) 2and3
~1£)._ 1and 4 @ land2 e

DST.F-1-23

4 19)F siwia Prefifag # & #H- T Ea=a
v Yﬁ)maﬁm T A T A TR ?

48.

&ﬁaﬁrm (R)

49,

50.

51.

(@) grafer TE, Gie I = i Tdadl s~

) mﬁﬁmmﬁmx@%waﬁﬁmﬂ
© Mmmwaﬁmﬁﬁm/
@ it%mﬁsmgmugﬁ-mﬁm

3 3 e e e &, R & o =l (A) T

FEITATR

T d@fea™ %
o g an ' ra‘rﬁaxﬁra;
W Tal

|
FrUT (R) : M HEHE % AeE 153 § 48 FR
nggﬁa;@#%qqmmﬁml

e R e g2 # & we IMIAT:
(A)!TEZ?T%, R)EE ]

s & =Afe
¥ TSI & IS

a %

o) (A)TEE g ®R) T | -

G () 7 (R) <6 w8 S (), (&) B @
AT HATE |

e i & -8 v o v e e 2 2

@ |10 A e WG % AR &
et S FHT fregffia e

() RfeFemmr. - i T AR
quTat wt g gffim g e .

© ﬁ-ﬂﬁu;qa;f‘ _ T fram-ige i nifwar

(d) FERTUTEA - waa < it
gy i afrdt 3 A R
1 & G-I & gafaa Hif

RSB Sl i
e i $

A 1. 266

B. f s 2. IR 360

C. fasita smurasra 3. 3T=0% 280

D. T 3 Fri o 4. ITTIT 148
HRTeIET TOeF

T - L

A B'c b

@ 4 1 23 2

® 3 1 .2 4

© 1 2 3 4

@ 1 3 2 4

wrdi w#fum § v F feg aften % swwla

Frafafea # & fradh e A R 2

1. STegvaaT &1 3=

2. WG S AR 3R s 49 & iy

3. wREH R Ter | st 6 Aegh @6 g

4. wewdemH G fedifgar

=it o T e F @ e se g

(@) 33Ma (b) 233

(€. 134 (@ 132
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= ith reference to | 52.
52. Consider the following statements W

the Congress Socialist Party : was formed in

1~ The Congress Socialist Party

4 .
2. ;:?vl:xa}:rl]::;\lcluu formally _,omed this party due
to his sympathy for socialism. o

Which of the above statemen#! is/are corret; .

(@ Neither Inor2 (b) <Baildl and

(c) Only2 @}

53.

S5.

. ot ¢ them in
Consider the following evcx}tsﬂand arrang @

chronological order : -~
1.  Murder of Abul Fazl 53%,&

2. Death of Sheikh Mubarak
3.  Death of Faizi
4.  Death of Daniyal
Select the correct answer from the codes given below
@@ - 3,2,1,4 ® 2,1,43°
© 2,431 d 2,3,1,4
Ly

&

Consider the following event?s;imd arrange them in 54,
chronological order : (':: ! 2
1. Linlithgow August Offer:
2. Cripps Mission arrival inii_nidia
3. Ramgarh Congress Session
4.  Resignation letters of Congress Ministers
Select the correct answer from the codes given below :
@ 4,3,1,2 by 3,1,4,2
() 4,2,3,1 d 1,3,4,2
Match List-I with List-Il and choose the correct
answer using the codes given below the lists :
List-I L Listln
(Book) ‘ ( (Writer)
A. Hindu Polity Py ;1. D.D. Kosambi
B. The Wonder That Was 12, AL, Basham
India )
C. An Introduction to the ™! 3 K.P. Jayaswal
Study of Indian History
D. The Early History of 4. Vincent Arthur
India Smith
Codes :
A B C p
@ 1 2 4 3
b 3 2 4
© 1 2 3 4
“““““ CLICK HERE—FOR 2
(N[ RE—F R A

55.

—
ﬁ&qmﬁem%ﬁmﬁﬁqﬁ,ﬁ; W aLs
ﬁﬁmﬁﬁq m\ 56.

. maﬁ 1934&%@%@;,%&

2. mmﬁmguﬁéﬁ%maﬁq—q-m

SRS HE% 39 g | T gU |
I & A e A
(@ ??ﬁlq-gﬁz (b) lsﬁtzz;rﬁ
© Fw2 @ Faal
ﬁqﬁf%amaﬁmﬁ?umqmg—%m
3t hifd -
1. ﬂgﬂm;ﬁm
4. A digg
A ey e # & w Sw

(@ 3,2,1,4
() 2,4,3,1

b 2,1,4,3
d 2,314

Freferfiaa Terelt v faram Hifire 7o 5 T
A hifv ;

1. fowferm % srme weam

2. Torg firem o g s

3. TG i rfrEew

4. s ahEl S
ﬁﬁ“%ﬁﬁmﬁmgﬁq:

(@ 4,3,1,2 ®) 3,1,4,2
@/’4,2,3,1 @ 1,3,4,2

-1 -1 & e Aifdr i gl & e

T T FHT TN X FE IR IAC:

Telt-1 Het-11

() (cTE)
A. feguifedt L 23 S
B. @det e aw sfea 2. WU, SIm
C. WPeRAIIRS 3. Hd. SEEE
D. zoreli e afw s 4. fode ami forw
E§Z:

A B C D e

@ | 2 4 3 [;j%q
(b) 3 2 4 1
(©) 2 3 4

N SWERSKE&-, ______________________



? Which of the following sinqqyy,

wecological niche ? NS S mor trye about 56.
umber of species bee
@ “Nichc of naﬁlml c:z:;’:l':':] In:?c in ecological
sufTicient, 3 resources nre
® cDCOOlll:)l;Inc‘:l ::2;:5 OECUPY extensive and broader
Dominance of s .
© minimum if the rfslgwczpezlics:rib b?cornc.s
equitable in a habitat, ulion is
@ N.umbc.r °r'spcgics becomes smay| in ecological
niche, if resources are sufficien. siea
Match Li.St'l with LiSt-'ll and choose the correct [57-
answer using the codes given below the lists :
Lyt List-I1
(Biosphere Reserve) (State)
A. Simlipal 1. Kerala
B. Nokrek 2. Odisha
C. Agasthyamalai 3. Assam
D. Manas 4. Meghalaya
Codes :
A B C D
@ 3 1 4 2
® 1 2 4 3 -
c) 2 4 1 3 ‘E’,%"é
d 2 4 3 1
58.
Consider the following statements :
I. Scientific investigation depends on commitment
to practical ideals.
2. Honesty is particularly important in science.
Select the correct answer from the codes given below :
(a) Both statements 1 and 2 are incorrect.
(b) Both statements |1 and 2 are correct.
(¢) Statement | is correct, 2 is unpredictable.
(d) Statement 1 is correct, 2 is not correct.
Which of the following is the correct order of plant |59,
species from higher to lower order ?
(a) Order — Class — Phylum — Plant Kingdom
(b) Class - Phylum — Order - Plant Kingdom
(¢) Plant Kingdom — Phylum — Class = Order
___(d) Class — Plant Kingdom — Pll)f"-{"‘ - Order s

DST.F-1-23

Tt # F B aifafrefa R %
Wu’?zﬂ%?
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60.

61.

62.

) n that took
With reference to the :‘\nliqlﬂo'St operatio

ving
place in April 2024, lich of the follov

statements is/are correct 7 |

LIt took place i Badchiroli  district of
Maharashtra.

2. The operation was launched by BSF and
District Reserve Guards.

Select the correct answer from the codes given below :

(@) Neither 1nor2  (b) Only2

(c) Bothland2 (Fﬂ Only |

With reference to “PraVaHi" software developed by
ISRO, which of the fo 1g_|w1ng statements is/are

correct ?
1. It is a path-breaking feat by Vikram Sarabhai
Space Centre.

2. Initial aerodynamic design of space vehicles
requires evaluation of large number of

configurations.
Select the correct answer frm the codes given below :
(@) Neither 1 nor2 @PI Only 2
(c) Bothland2 QJ_ Only 1
rd

Given below are two statements, one is labelled as
Assertion (A) and the other as Reason (R).

: In April 2024, India delivered the
BrahMos Supersonic Cruise Missile to Philippines.

Assertion (A)

Reason (R)
490 kilometres.

The Missile has a range of

Select the correct answer from the codes given below :

(a) (A)is false, but (R) is true.

(b) Both (A) and (R) are true, but (R) is not the
correct explanation of (A).

(c) (A)istrue, but (R) is false.

(d) Both (A) and (R) are true and (R) is the correct
explanation of (A), g&%

60.

61.

62.

b
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65.

WhICh one of the fO”OWing Pairs

. is nor cq
matched regarding Peculiaritieg rrectly

; of Ramganga
ProJcCt ?
@ Hydropower generation

capacity
() pam’s length _

198 Mw

825-8 metres
Irrigated area

(©
)]

6 lac hectares
Garhwal
(Uttarakhand)

Location -

Consider the following statements wig, reference to
cultivated area of some countries of the world :

|. In comparison to USA, China angd Japan, India

has highest geographical area under cultjvation.

2. India’s location in tropical monsoon region
helps diversified cropping all through the year.

Which of the above statements is/are correct 7
(a) Neitherlnor2 (b) Bothland2
(€) Only 2 (d) Only1

Match List-1 with List-Il and choose the correct
answer using the codes given below the lists :

List-1
(Place)
Devprayag L.

List-11
(Confluencing Rivers)
Alaknanda and Pindar

Alaknanda and
Bhagirathi

B. Rudraprayag 2,

C. Kamaprayag 3. Bhagirathi and

Bhilangna
Alaknanda and
Mandakini

D. Tehri 4.

63.

64.

65.
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G

them in
66.  Consider the following days and &rmaoge :

chronological order :

1. World Health Day

2. National Maritime Day
3. World Athletics Day
4. World Red Cross Day

below :
Select the correct answer from the codes given

(@ 2,1,3,4
®) 4,2,3,1 L0
IS
(c) 3! 21 1l 4 r_"’
d 23,41
<F

67.  Match List-I with Lift-l and choose the correct
answer using the cq:des\I given below the lists :

List-1
(Award)

A.  Aryabhatta L.
Award, 2024

B.  World Literary 2.
Prize, 2024

C.  LataDeepanath 3.
Mangeshkar/./"
Award, 2024

D. Goldman ;) 4.
Environmental-’.
Prize, 2024 ™!

Codes : o

A B C D
(a 3 2 4 1
b 3 2 1 4
(c) 2 3 1 4
d 4 2 1 3

68. Match List-I with List-Il and choose the correct
~answer using the codes given below the lists ;

~

List-1 P~
(Vitamin) (.'\ |
A Vitamin A i}
B. Vitamin B
C. VitaminC
D. VitaminD

o
W N~

.............................
..............

.......................

List-I1
(Recipient)
Amitabh Bachchan

Mamta G. Sagar

Dr. Subba Rao
Pavuluri

Alok Shukla

List-IT
(Disease)
Beriberi
Blindness
Rickets

Scurvy

66.

67.

68.
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% Match List-I with List-Il apq ch

0.

.

.

=——a,
-,

00se the correct

answer using the codes given beloy, 11, lists -
List-I List-Ig
(Canals) . (Rivers)
A. Upper Bari Doab Canal |, Sutlej
B. girhind Canal 2. Yamung
c. Gurgaon Canal 3. Sutlej, Ravi B
p. Indira Gandhi Canal 4. Rayi 1, Deas
Codes :
A B C D
@@ 3 2 1 4
®m 4 1 3 2
(d 4 1 2 3
Which  one of  the following  pairs
(Crop — Peculiarity) is nof correctly matched ?
(a) Bihar's contribution to - 157%
rice production
(b) State whererice is grown — West Bengal
three times in a year
(c) Isohyets that decide ~ 100 cm
western limit of rice
production
(d) State with largest area — Uttar Pradesh

under rice production

Consider the following statements with reference to

cotton crops :

1. Cotton is mostly a Kharif crop.

2. Cotton crop requires moderate amounts of
rainfall varying between 50 — 75 cm annually.

Which of the above statements is/are correct ?

(a) Neither 1nor2 (b) Both 1 and 2

(¢ Only2 (d) Onlyl

Given below are two statements, one Is labelled as
Assertion (A) and the other as Reason (R).

Assertion (A) : Red soil denotes the second largest
soil group of India.

Reason (R) : Red soil surrounds the black soil in the
south, east and north directions.

Select the correct answer from the codes
() (A)is false, but (R) is true.

(5) Both (A) and (R) are true and (R) is the correct
explanation of (A). E»%%

() (A)is true, but (R) is false. ey

Both (A) and (R) are true, but (R) is net the
correct explanation of (A)-

given below :

69.

70.

71.

72.
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73.

74.

75.

76.

) Development
Which indicators are used in Human

Index (HDI) ?

1. Incomc level
2. Education

3. Condition of environment
4,  Life expectancy
Sclect the correct answe
(a) Only1and4

(c) Only!land2

¢ from the codes given below :
(b) Onlyl, 2and3
(d) Onlyl, 2and 4

arrange them in

Consider the following events and ,
ey from the earliest

correct chronological order starting
to the last activity :

1. Pradhan Mantri Gramodaya Yojana

2. Rural Employment Generation Programme
3. Prme Minister Rozgar Yojana

4. Valmiki Ambedkar Awas Yojana

Select the correct answer from the codes given
below :

(a) 4,2,1,3
() 3,2,1,4 (d)

®) 2,3,4,1
1,2,3,4

Malthus argued that the population growsina
progression, while agricultural production/food
supply grows in a progression.

From the following options, choose the correct
answer to fill in the blanks :

(a) Exponential, Linear

(b) Linear, Exponential

(¢) Geometric, Arithmetic

(d) Arithmetic, Geometric

Match List-I with List-II and choose the correct
answer using the codes given below the lists :

List-1 List-II

(Yojana Name) (Date of Launch)
A. Pradhan Mantri Awas 1. May, 2016

Yojana — Gramin

B. Jal Jeevan Mission 2. October, 2014

C. Swachh Bharat 3. August, 2019
Mission — Gramin

D. Pradhan Mantri 4. November, 2016
Ujjwala Yojana

Codes :

A B C D

(a) 4 3 2 1

(b) 2 3 1 4

(c) 3 4 1 2

d 2 3 4 %
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1.

18

7.

80.

81,

which of the following

Constitution of India ?

1. The President shall not be a mepm
the Houses of the Parliamen;,

is/are Stated in the

ber of either of

5. The Parliament shall consist
and both Houses. of the President

 gelect the correct answer from the codes given bel
clow :

() Only2

oy (®) Bothland2 Y@
(c) OUnly ®

(d) Neilher l nor 2 E. 2

Consider the following statements :
endment to the ituti .

i;lmi]ti:;::i by the : Constitution of India can be

1. Lok Sabha 2. Rajya Sabha

3. State Legislatures 4.  President of India

Which of the above statements is/are correct ?

(a land2 () 1,2and3

(c) 2,3and4 (d) Only1

Which of the following are the functions of the

Flection Commissioner of India ?

1. Conduct of elections for the posts of the Speaker
and the Deputy Speaker of the Lok Sabha and
Deputy Chairman of the Rajya Sabha.

2. Conduct of elections of the
Corporations and Municipalities.

Municipal

3, Deciding on all doubts and disputes arising out of
the above elections.

Select the correct answer from the codes given below :

(@ land3 (b) 2and3

(c) land2 (d) None of the above

Which one of the following is nof correctly
matched ?

(a) Dantwala Commitiee  — Rural Credit

(b) G.V.K. Rao — Planning at the
Committee Block Level

(¢) Ashok Mehta _ Panchayati Raj
Committee [nstitutions

(d) Santhanam Committee — Panchayati Raj

Finances

Which one of the following 1is not correctly
matched ?
(@) Aricle 154 - Executive Authority of the

Governor

(b) Article 153 - Office of the Govemnor
() Anicle 156 - Term of the Governor
(d) Aricle 155 - Removal of the Governor

...................
.............................
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1.
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82.

83.

84,

85.

————————
—— i

correct
Match List-I with List-1I and choose the

answer using the codes given gelow the lists :

List-I ist-IT | I
A. Human 1. Iutemanonf?un
Development Report ~ Monetary tions
B. World Economic 2. United Na
Outlook Environment
Prqgrnmmt?
C. World Investment 3. United Nations
Report Development
Progmn&m?
. Emissi | itéd Nations
D Rk P Lo e on Tsde
;mdw[jcvelopment
Codes : o
A B C D <
(@ 3 4 1 2 H
®) 3 1 4 2
© 2 3 4 1 E-iﬁ
@ 1 2 3 4 &=

Given below are two statements, one is labelled as

Assertion (A) and the other as Reason (R). )

Assertion (A) The concept of Sustainable

Development was popularised by the Brundtland

Report.

Reason (R) : The Brundtland Report is also known

as *“ The Limits to Growth™.

Select the correct answer from the codes given below :

(a) (A) is false, but (R) is true. L .

(b) Both (A) and (R) are truepbut (R) is not the
correct explanation of (A). <

(c) (A) is true, but (R) is false.

(d) Both (A) and (R) are true a@(R) is the correct
explanation of (A).

The following lists [ and II stx the names of

Economists/Authors and their books respectively.

Match List-I with List-Il and choose the correct

answer using the codes given below the lists :

List-I List-IT

(Economist/Author) (Book)

A. Myrdal 1. Economic Theory and
Under-developed Regions

B. Hirschman 2. The Strategy of Economic
Development

C. Kaldor 3. Strategic Factors in
Economi¢ Development

D. Adam Smith 4. The Wealth'of Nations

Codes :

A B ¢ p ¥

@ 2 3 1 4 g

® 1 2 3 4 I

d 3 2 1 4

Write in descending order the following States on the
basis of their population as per Census, 2011 :

1. Bihar 2. Andhra Pradesh

3. Uttar Pradesh 4. West Bengal

Choose the correct answer with the help of the
following codes :

(@ 1,3,2,4 (b) 3
1

82.

83.

84.

85.
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87.

89,

According to the Economic Suryey

fiscal policy response did the g 2022 - 23, what

- undertake in response to the aggr OVemment of India

disruptions ? avated global supply
{. Decreasing food and fertiliser subsids
2. Increasing taxes on fuel and im ies

3. Reducing taxes on fuel ap Ported products

d certain imported

products
Select the correct answer from the codes i
Sy 4 ®) Oaty 3 Biven below :
(c) Onlyl (d) None of the above

Match List-I with List-I and
answer using the codes given bd“ﬂ’:‘?ﬁ;iisﬁ? correct
List-I z

(Social Security proag
oc (Beneficiary"
Programme) _ Con!riburi%;
A. Pradhan Mantri Shram 1. Beneficiany
Yogi Maan-Dhan Yojana choice s
B. Pradhan Mantri Jeevan 2. ¥55_
Jyoti Bima Yojana pesrsmotlfhoo
C. Pradhan Mantri Suraksha 3.

Bima Yojana T 436 per year

D. Atal Pension Yojana 4. T20

Codes : peryent
A B C D

(a) 2 4 1 3 oD

® 2 3 4 1 =R

) 3 2 1 4

@ 1 2 3 4

Given _below are two statements, one is labelled as
Assertion (A) and the other as Reason (R).

Assertion (A) : Development is being defined as
improving living standards and welfare.

Reason (R) : Growth in per capita income is not a
sufficient measure of development.

Select the correct answer from the codes given
below :

(a) (A)is false, but (R) is true.

(b) Both (A) and (R) are true and (R) is the correct
explanation of (A).

(A) is true, but (R) is false.

Both (A) and (R) are true, but (R) is not the
correct explanation of (A).

Arrange the following schemes launched by the
Government of India in chronological order and
choose the correct answer from the codes given
below :

1. Integrated Rural Development Progr amme

2. Swamjayanti Gram Swarozgar Yojana

3. National Rural Employment Guarantee Act

4,  Pradhan Mantri Jan-Dhan Yojana

©
(d)

Codes :
(@ 3,4,1,2 ®) 1.2,3,4
L0 43,1,2 @ 2341

CLICK HERE —F
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86.

87.

88.

89.

DST.F-1-23
yfifep W, 2022 — 23 ¥ IFET, TG A nﬂ

S B e A I FOCL e T
=t whafiran AT ?

1. T i IE afeudt # FH

5 i af T e 9 TG

3. mﬁt@mmwaﬂmm

ﬁﬁq%gzﬁzﬁ%ﬁm(b

2 )

23 3;?1 (d) m%ﬁiﬂm
-1 "gﬁ’l-llﬁgﬁ%ﬂaﬁﬁq

:qﬁfam;w‘maﬂ I IR
g1 -1
AT Fd5Y remefT 1
mrﬁﬂ?*ﬁfﬂﬂ N i

A. gq%aﬁaﬂmzﬂrﬁm.m 1. feanfrardeme £t
T FTHER

B sur s s sfiar 2. ¥55-%200
AT ofd 7TE

C. st g s 3. za36ufaad

D. e 99 AR 4. T209faad

e 3 c

. B D

W &4 1 3

@ 2 3 4 1 .
3. 2 1 4 olo

Efi}) af 2 3 4 é’%ﬁi

H3 &' g e E, Rl & o 1 A (A)

ZE I BT (R) FE TR

SRR (A) : T F S T S e § 9

¥ & i ufonfia BRI e |

mm):gﬁazﬁﬁmﬁaﬁ:ﬁmm?ﬁwhm
TR

i g e F & Tt s

@ (A)TeEE, fEg R) TR

(b) (A) T (R) aHT T & 3T (R), (A) F w&
T FLA S |

(c) kA)Hﬁ%,ﬁ»gg{)naa%l

(d) (A) T (R) TH E E, B (R), (A) T &Y
ST T T 8 |

A l‘ﬂﬂ?l'( T ey i 1 Frefafaa demred # 5
g § sEfeem Aif A Re gz 4TS
33'{ .

1. uufaa umior faem swa
Tl = T =S T
T mretor s T Afufram
TUEE SH1-47 e
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91.

92.

93.

94.

What does the term “Cereal Yield” refer 0 ? it area
1. The amount of cereal crops prt oduced per uf
of harvested land 2 :
2. The total production of cereal crops 1o a given
country
Select the correct answer from the cod
(a) Neither1nor2 (b) Both '1 and 2
(c) Only2 (d) Only )"

Which of the following statements isttruc regarding
the trend of unemployment rate in ;Indm betvt/’een
July-September, 2019 and July-SCPt??a?er' 2022 5

1. Itremained the same. [\\i

2. Itdeclined,

Select the correct answer from the codes given below :
(a) Both 1 and 2 are false.

(b) 2 istrue and | is false.

(c) Both 1 and 2 are true.

(d) 1istrue and 2 is false.

Who prepares/publishes the Global Multidimensional

Poverty Index (MPI) report ?

1. World Bank and International Monetary Fund
(IMF) Lrs

2. Oxford Poverty and World Healiﬁf'Orgmisaﬁon
(WHO) =

3. Oxford Poverty and Human. Development
Initiative (OPHI) R

4. United Nations Development Programme
(UNDP)

Select the correct answer from the codes given

below :

EgE
(a) Only4 (b) 2and4 "‘E"%ﬁ
(c) 3and4 (d 1land4

es given below :

Arrange the following schemes launched by the
Government of India in chronological order and
choose the correct answer from the codes given
below : g

1. Swachh Bharat Mission b,

2. Pradhan Mantri Kaushal Vikas Yéiana
3. Pradhan Mantri Garib Kalyan Yojina
4.  Pradhan Mantri Mahila Shakti Ké[;ldra Scheme
Codes : : y

(@ 4,2,1,3 (b) 2,1,4,3

() 3,1,2,4 (d 1,2,3,4

What does the Intergovernmental Pane] on Climate
Change (IPCC) emphasize regarding reductions in
greenhouse gas (GHG) emission ?

1. Gradual and limited reductions are enough.

2. Deep, rapid and sustained reductions are essential,
Select the correct answer from the codes given below :
(a) Neither I nor 2 (b) Both1and?2

(c) Only2 (d) Only |

DST.Fq

90. SN IN R F AT FTE ?
L = ¢ vt ¥ wfa =8 &7 F 3arfy
FHAT Y T
2, Mﬁqm%mﬁmmm@m
A2 ey e & & wdt s g
(@ T3 (b) 1323Et
(© Fae2 (d) Fae |

91 em-fma, 2019 oft qem-fmw, 2022
A § St <t i wafy % weu § Refiieg
AT FT A 2 0
I e
2. W ;
ﬁmmﬁﬁﬁmﬁtﬁ: {
(@) 1322 o)

() 2w@ R neaR)
© 13R23F T E) o
) 19ft2dN2Te@R é‘gﬁ

92. 3fir agemaTft mhh i (T.t.ammd) fgke =
IR T R 7
1. form ok ot srmrefsdi gz i (o o)

2. 3frFahiE it 3 fore wamees W (S .aE 3
3. ATRHrS st o e T geer (3t dum.an
4. 97 g, farehra Frdsem (g0, )

et fow me e # & vl swe P

(a) ¥4 (b) 23R4

(c) 334 (d) 134

93. WA TR g YW Y 78 Fefafas e
Wﬁm@aﬁmaﬁﬂ%ﬁqw{aﬁm
waﬁq:

=3 vra five
TUTHHET e T O
T T 1T AT
vyt afger vt ¥ g

9{5;1:“.‘".“:"

(@ 4,2,1,3 (b) 2,1,4,3
(C) 3! 112’4 (d) 192a 3u4

94. tieRw MW Ghoast) sosa & wddt ¥ ey
Seraryg uiEda T -t et (s ftef ) B
QAT ?

1. i it difim Fdt yafn 8
2. e, ot o vt R sa v B

A R e # & vt smogfi:
(@ Far1a#2 (b) 1323t
(c) Fad2 (d) Faa1
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96.

97.

98.

Lo
.....

Which of @elfollowing. is the correct
phases of Biotic succession ?

@
()
(©
(@

Sequence of

Ecesis — Migration — Stabilisation Re
i igrat = Reaction
Ecesis — Migration — Reactiop — Stabilisati
. - ! alion
Migration — Ecesis ~ Reaction Stabilisati
ion

Migration — Reaction — Stabilisation Ecesi
— Ecesis

Given below are two statements, one g labell
Assertion (A) and the other as Reason ®) elled as

Assertion (A) @ Relative humidity decreases
increasing air temperature. es with

Reason (R) : Absolute humidity increases with
increasing evaporation. wi

Select the correct answer from the codes given below :
(a (A) is false, but (R) is true.

() Both (A) and (R) are true, but (R) is nor the

correct explanation of (A).
(A) is true, but (R) is false.

Both (A) and (R) are true and (R) is the correct
explanation of (A).

()
@

Which one of the following is correctly matched ?

(a) Pycnocline — Sea water density

(b) Ecocline — Biodiversity

(c) Halocline — Sea water temperature
(d Thermocline - Air temperature

Match List-1 with List-Il and choose the correct
answer using the codes given below the lists :

List- List-I1
A. Planting Hearth 1. Hungary
B.” Cryophyte Steppe 2, Adolf Engler
C. World Floral Regions 3. C.O. Sauer
D. Puszta Grassland 4. Arctic Tundra
Codes :
A B C D
) 3 4 2 1
b) 4 3 ) 1
) 1 2 3 4 Eye
d 3 4 1 2 =’

...................................

95.

96.

97.

98.

18] DST.F-1-23

e & g 3 S A A =
TAFAR?
(@
(b)
©

(d) v — wfefrar — Rl — AT

41 3 o e e £, Pt & o )y arfi (A) 740
aﬁaﬁm(R)ﬁ“W%'
W(A):FWWW*W‘&?%*
e rai il

T () : A 3 3 e P s # 7
St rd

3 g e g 3 & B O

@) (AT g R FAR

®) (A) 3 (R) 3 =@ 2, FRg @), (A) 1 FE
e T T |

(A) T 8, g (R) TR & |

(A) 3 (R) 2 & & 3 (R), (A) FT FE
ST FATE |

(©)
(d)

Arefofaa § & IR FO g ] 2
(a) QT L @i e e
(b) IR f:'g Sra-fafeaar
(cj ERIEEIE! ;\*-j IR ST AT
(d) UHiEAR

p——
@-Iaﬁ@-nﬁg&ﬁlﬁﬁﬁqaﬁtr@ﬁ%ﬁﬁm
e TA TS DL EIE LRI ELE

wt-1 -1
A. Qe STeT Gy
B. AR & TEITH Wl
c. fava® qofta &= . .3, |
D. &1 I A e 3T

(=

& oW

we

o

..........................................
........................................
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o4

99 is

hich
The content of compulery memory ff‘.v ]
non-volatile, even when thd power goes ol 15 -

(a) ROM (b;fﬁ REM
() RAM (¥ None of the above
r

r _
100. Which of the following is a con-egt relannst;lP
between Fahrenheit (°F) and Celsius (~C) degrees !

() °C=°F-27315 () °C=3°F+32
(©) °F=°C-27315 (d) °F=%°C+32

101. Which of the is not

true ?
(a)

following statements

Ly
Nucleus of a cell docs,;;t play a role in cellular
reproduction. £
Chromosomes are cigil?posed of DNA and
Protein. £l
Functional segment of DNA is called genes.

Chromosomes
inheritance.

(b)

()
(d)

contain  information  for

102. Given below are two statements, one is labelled as
Assertion (A) and the other as Reason (R).
Assertion (A) : CO,, 80, and NO, gases get
dissolved in rain water and produce acid rain,
Reason (R) : Atmospheric 'J;f is polluted due to high

concentration of gases like.carbon dioxide, sulphur
dioxide and oxides of nitrogen!

Select the correct answer fro?ﬁf&hc codes given below :
(a) (A)is false, but (R) is frue,

(b) Both (A) and (R) are true and (R) is the correct
explanation of (A),

(A) is true, but (R) is false.

Both (A) and (R) are true, but (R) is mot the
correct explanation of (A).

(c)
(d)

103. Which one of the following groups have only input
devices ?

(a) Mouse, Keyboard, Projector
(b) Mouse, Keyboard, Printer

(¢) Mouse, Keyboard, Scanner

99,

100.

101.

102.

Mouse, Keyboard, Monitor

4—_‘

103.

DST.F-1_.

FE A T T FA-RT AT R S g 5
B 9 oY areRadasiie war R 2

(a) ROM (b) REM
(c) RAM (d) 74 R 35

Freferfea & & - wierse (OF) T dfvwy o
feft F Ao vt aemewtar 2 2

(@ °C=°F-273-15 () °C=%°F+32

(€} °F=°C-27315 (d) °F=%°C+32

Fefafaa i a7 20

(a) et ¥ 1 Sz TR frnoremy/sem
femradi a2

(b) FHEEHRET TR AT

(c) ST FEaFHFE R AT TR

(d) R w3 for gead dim @ #)

ﬂ%ﬁmﬁqw%,ﬁqﬁ&qmﬁwﬁm(ma

THUHI T (R) FRITAS |

aaﬁ:m(,\):coq.so,aﬂwozi’rﬁasfaraﬁg

STt & 3R ity ant s Wt 3

IO (R) : FlelT SFHTHATES, TEHT TEHTRAES &

TRERA ¥ Jiarge et et B 3=7 gz ¥ an

et a1y e Bt 2 |

#ﬁrﬁmqizﬁﬂm&mgﬁu:

(@) (A)TER, g (R) W@ )

(b) (A) 3 (R) I w& ¥ 3tk (R), (A) o ¥
T F@T R |

© (AR g R) @R

@ (A 3R (R) W E e (R), (A)
TS 7§ FE R |

ﬁﬁtféﬁaaﬂt(@iﬁ‘ﬁhﬁﬁaamm(ﬁ

feamm @ 2

(a) WY, AL, Wt

(b) wmRE, #HrErE, ey -

(c) wi=H, a4, B GEE

(d) W, F-8E, ooy




! g DST.F-1-23
104. Co:l].Slde:l the following Statements with, reference 1o |104. WA SR ¥ = 4 fFafafaa FuAt 7t fF=r
early tradc :
ENEIE
1. There are references of num . . -
ancient India. €rous river-ports in 1. mmﬂa@ﬁﬂ;zuﬁ%:zﬁﬁaﬁl
EIGIEIGE TRe™ & |
2. There were large entrepots of 200ds and traffic. 2. el amH T o
Which of the above statements is/are correct 2 Ijer 8 A AR FH R &2 7 )
(2) Neither1nor2  (b) Both | ands (a) TAWMLITE2 ) 1 a2 3T
(c) Only2 (d) Only1 (c) Fae2 () Fad |

0
105. Amange the following Sen rulers of Bengal in|105 T{q‘q}é?ﬁqihiigaﬁqﬁiih‘aﬁim’twilél FTAFHATTHI
| wmTe % HE

ascending chronological order :

|. Ballal Sen st AR
2. Lakshman Sen e | aeE
3. Hemant Sen = 2. AEAE %&%
4. Vijaya Sen 3, wHaed ’
Select the correct answer from the codes glven below:: 4, ICERE:C]
(a) 2,1,4,3 ®) 4,3,2,1 :ﬁ%ﬁqm{zﬁﬁa‘aﬁﬁ}gﬁ(:-
© 3,4.1,2 @ 1,2,3,4 @ 2,1,4,3 Moy 4,3,2.1

© 3,4,1,2 f:(_j_d) 1,2,3,4

106. Consider the following statements with reference to ;‘:?]

Bairam fchan : 106, et ot i e o Farem i
1. Akbar gave the title of Khan-i-Khana to Bairam

1. mﬁé'{'ﬂ’@?ﬁl‘a'ﬁ-t(-@'mﬁmﬁl
9. g IR T ¥ ISR ¥ ®9 ° 407 @i

Khan.

2. This title was not given at the time of

appointment of Bairam Khan as Vazir of ﬁgﬁﬁ%mq‘é’hﬁv{ '

Empire. I § F F-EA T W R 2
Which of the above statements is/are correct ? (@ Adr1T&2 ®) 132 24T
(a) Neither 1 nor 2 (b) Both1and2 ) Faa2 L) Faa1
(c) Only2 (d) Onlyl P~

-
107. Frefafan doemd w fam St @ w# ol

107. Consider the following Peshwas and arrange them in

ascending chronological order : L =t ﬁf"? >
. Raghunath Rao (Raghoba) L. O T ()
2. Balaji Baji Rao 2. =S O
3. Narayan Rao 3, ATEeTTE
4.  Balaji Vishwanath 4, ST fagay
Select the comrect answer from the codes given Hra Ry e § & wédt smogf
below :

(a) 3,4,1,2 (b) 4,2,3,1
@) 3,4,1,2 ®) 4231 @ L8354 v
(© 1,3,2,4 @ L2234 ] S @ 1,2,3,4

CLICK HERE —FOR ANSWERS KEY
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108.

109.

110.

cl
Match List-l with List-1l and choosclihc. corre
answer using the codes given below the lists :
List-1 List-i1
(Essayist) (Treatisc)
A. Devana Bhatta 1. Dan Sagar
B. Hemadr 5. Parashor Madhav
C. Madhvacharya 3, Chaturvargd
Chintaman!
D. Ballal Sen "%, smriti Chandrike
Codes : 1'
[ L\
A B CcC "D
=y
(@ 1 4 2 13 E’nﬁ
(Db
() 2 4 1 3
© 4 3 2 1
(d 3 2 1 4

Given below are two statements, one is labelled as
Assertion (A) and the other as Reason (R).

Asscrtion (A) : Tu:ri:ilsh invasion on India was
successful. =

Reason (R) : There Wills no political unity in North

India.
el

Select the correct answer from the codes given below :
(a) (A)is false, but (R) is true.

(b) Both (A) and (R) are true and (R) is the correct
explanation of (A).

(c) (A)is true, but (R) is false.
(d) Both (A) and (R) are true, but (R) is nor the
correct explanation of (A).

e
Consider the following statements regarding Voice of

Global South Summit (YOGSS) :

1. India recently concluded its 2°¢ Voice of
Global South Summit.

2. The term Global South is related to developed
countries.

Which of the above statements is/are correct ?
(a) Neither I nor2

(b) Only2

(c) Both]and2

DST.F-1-23
108. -1 F FA-11 3 e g it g F Y
fu Y gz F WA FEE ga g
Seis eIl
(FEeFR) ()
A. 3am g | FAEM
B. Iz 2. qUERHTEE
C. umETET 3. aﬁﬁw
D. Seee 8 s, wfaafzm
%e
A B C D
(a) | ) 2 3
® 2 4 1 3
© 4 3 2 |1
@ 3 2 1 4

109.

110.

#1 3r e Rrw e &, R & o 1 ARTR (A) T

GEU T T (R) FT T8 |

STRrweT (A) : YT T el HATHATT FheT G |

T (R) : I A & TeA1feres ol 61 o | @ye

A R e & Wl seC T =

@ (A) TR, g ®R) FE R

() (A) @@ (R) eHT GE & 3 (R), (A) F @E
AT FET & |

() (AT, g R)TEa )

(d (A) 7 (R) 3F |E €, R (R), (A) R &
AT TET F 2 |

digE T Wik a8y aie (@t ey F g9y
# Frafafas s w fer i

l. Y@ A E € F AU gHU AR IfE e
arey afire gra= g |

2. T A3y ey fawtia S @ wEitm R
SYGT 1 © -9 FA W R/E 2

(@) FaT19d2

(b) HEA2

(c) 132THT

...............................
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(5L DST.F-1-23
which one of the follow; : ” 42
111. Pla‘:l: o mr:t:lu MR pairs (Aluminium |11y, Prffa g (agfrfrrs waT - T) * %
- Cly maiched 9 - T 27
, 1 gl gAfeTd
(@) 2:1::8:1\1 N -~ Kaftittaen @ ¥ B ;
(b) ‘upumm (Alwaye) = Kerala @ ( B s
(c) Hirakud - Odishg i T ) B :
(d) Muri = Chhauisgarh ) T - ooe
112, Which of the following pairs (National Park - Freferfiaa gt _ geae-usT &) ° #
State/Union Territory) is nor correctly matched 7 i ' - TH2 7
i |1
(a) PinValley - Jammu and Kashmir EaE! i asgrﬁ%ﬂ 51. -
(b) Rajoji - Uttarakhand B <I . .
P ; (b) TSI £ ETIEs
(c) Simlipal -~ Odisha o
(d) Bandipur — Kamataka (€) ﬁ.'“"qm SAfem
(d) ST — e
113. Given below are two siatements, one is labelled as
Assertion (A) and the other as Reason (R). 113, 2w R E, el & T &) AR (A) T4
Assertion (A) : The Himalayas are still rising. zﬁﬁwm)ﬂw%l st
Reason (R) : The Indian tectonic plate 1s colliding arfeTeRer (A) + femmer soft off S=1 -&;zlﬁ -
with the Eurasian plate. T (R) : qﬂ?ﬁﬂ%ﬂjﬁﬁ@tlﬁm ZH
; 2l
Select the correct answer from the codes given below : I~
(a) (A) is false, but (R) is true. e R e ii%ﬁ E'%F{Rﬂti 'Q%-I
(b) Both (A) and (R) are true, but (R) is nor the @ @ "aﬁt"_"“ g E)'if’f . P
correct explanation of (A). ® (A) qéf_{) ﬁﬁ%l , &g R), (A)
(c) (A)is true, but (R) is false. gﬁ
d) Both (A) and (R) are true and (R) is the correct © (A)Hﬁ 2. ﬁﬁ (R)? 2 &=
an - 5
W ?1 AP @ (A) R (R) T T T 3 (R), (A) H
explanation of (A). 3,
114. Match List-I with List-Il and choose the correct| 14, ‘f‘ﬁ" I ‘G[:tﬁ-ll u ﬁﬁ%am C‘vﬁtqﬁﬁ Fa ﬁc{
answer using the codes given below the lists : T 2 T WA F FE I ﬂﬁq i
List"l Lisl‘l] g%% 'q;m_l @_Il
(Coal Resources) (States) - (AT H3R) ‘L\Q A=)
A. Hutar 1. Madhya Pradesh A, g b . weEueT
B. Ib River 2. Chhattisgarh B. @& t; Tl 2. oYETe
C. Tatapani — Ramkola 3. Odisha C. ATt — THERE 3. snfem
D. Umaria 4, Jharkhand D. Iwfen (@ 4. uvEs
Codes : Tz -
A B C D A B c "
@ z 1 =& 4 @ 2 1 3 4
® 3 2 4 |1 ® 3 2 a4 |
(c) 4 2 3 1 (c) 4 2 3 1
@ a4 3 2 | @ 4 3 2

CLICK HERE —FOR ANSWERS KEY




115. Match List-I with List-Il and choosc e correct | 115.
answer using the codes given below the lists :
List-1 List-1 ,"%g%
A. Cooperative Federlism 1. K.C. Wheare e
B. Bargaining Federalism 2. [vor Jennings
C. Qunsi Federalism 3. Morris-Jones _
D. Federalism with 4. Granville Austin
Centralising Tendency
Codes :
A B C D
(a) 2 1 4 3
b 2 4 3 |
) 3 2 4 1
d 4 3 1 1‘2!7 .
116, Which one of the following is nof a level in the 116.
three-tier Panchayati Raj Fé&ummended by Balwant
Rai Mehta Commitiee ? E”l
(@) Gram Panchayat ¢
(b) Panchayat Samiti e
(¢) NyayaPanchayat
(d) Zilla Panchayat "7
117. According to the Lokpal and Lokayuktas Act, 2013
the Lokpal would be appointed by the President after
obtaining the recommendations of a Selection
Committee, with the Pnme Minister as chairperson
and consisting, among others, of the following :
1. Chief Justice of India'or'a Supreme Court Judge
nominated by him |
2. Chairman of the anygiispbha
3. Speaker of the Lok Sabha
4.  Leader of Opposition in Lhe Lok Sabha
Select the correct answer l’ro(r-ﬁ_'{he codes given below :
(a) 2.3and4 (b) 1,2and3
(c) 1,3and4 (dy [,2,3and4
118. Match the Amendments with their year of 118
implementation : '
A. 42" Amendment 1. 1985
B. 52" Amendment 2. 2011
C.  86™Amendment | .3. 1976
D. 96" Amendment [-4. 2002
Select the correct answer frdn the codes given below :
A B Cc P
(a) 4 3 2 ey
(b) 2 1 3 4=
(cy 3 1 4 2
@ 12 3 4
- 30 -

=

DST.F-q 23

g1 = e & gt A R T & A iy
mfemuﬁnaﬂqﬁmgﬁq:
Tqt-1 -1
A. T HR | a2
B. Hi2adEER 2. EETSfTg
C. o g 3, HifE-sR
D. = v 4, I sifem
EISIGEELE
E&‘c’:
A B C D
(@ 2 1 4 3
® 2 4 3 |
) 3 2 4 I
(@ 4 3 I 2
e d dgar it g srEitta Bt g=d T
i ieffea fa s m T e 2 ?
(a) YA
(b) d=mEd gt
() =4 Y=THE
(d) o= vemEw

aFE AR Sy afufrEm, 2013 F SER,
drare i Pafe tgefr ao ww wmm wifa
fawiiel w0 F = i sef, fSes e wam
o= B qur fSad o | & sreman, Frefafas
il &t

1. WA & g AR @ S99 gW Amiee

I AT T TS ATy
2. TSIV gl
3. i ET aTe ‘I:g%%
4. are i fwer T &
st for e e 7 A Wl SR
(@ 2,334 (b) 1,233
(c) 1,334 (d) 1,2,33fy
HYITT T 37 HraTa F ad & frer Hifn
A 423?@11?\ 1985
B. s 2011
C. 86l . 1976
D. Qﬁﬁﬁ!ﬂ\r‘& 4, 2002
A Ry oz # & vt Sw g
A B C D
(@) 4 3 2 1
by 2 1 3 4
(eLr 3 1 4 2
(d) 1 2 3 4
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119.

120.

121.

122,

With reference to “‘Nepal —
Sanskrit Conclave — 2024
statements is/are correct ?

1. Tt was held at New Delhi.
2.

India International
» Which of the following

This three-day conclave was organised by the
Niti Anusandhan Pratisthan.

Select the correct answer from the codes given below :

(a) Neither 1 nor 2 (b) Only2

(c) Bothland2 (d) Only1

With reference to ‘‘Lunar Polar Exploration
Mission”’

(LUPEX), which of the following
statements is/are correct ?

1. This is an India—Japan partnership for their
joint moon mission which shall be launched in
the future.

2. JAXA is responsible for developing the lander
for the mission, while ISRO is handling the
rover and launch vehicle.

Select the correct answer from the codes given below :
(a) Neither 1 nor 2 (b) Only2
(c) Both1and2 (d) Onlyl

With reference to ‘‘Guidelines for Elimination of
Corporal Punishment”” (GECP), which of the
following statements is/are correct ? '

1. The Tamil Nadu School Education Department
issued these guidelines on 26 April, 2024.

2. These guidelines are focussed on safeguarding
the physical and mental well-being of students.

Select the correct answer from the codes given below :

i b) Only2
(@) Neither Lnor2  (b) y @%@
Ea%

(c) Bothland2 (d) Only!l

With reference to ““FLY91"* which of the following

statements is/are correct ?

I. Itisanewly launched airline in India.

2. Its inaugural flight took off from Manohar
International Airport on 18" March, 2024

Select the correct answer from the codes given below :
(a) Neither 1 nor2 (b) Only2
(¢) Both1and2

119.

DST.F-1-23
AT T St e W - 2024 F
T i i & PR F W R 7
1. e et o s fr e
5 g d-Rad geem e srgEaE siaer @
AT ferar T gr |

T TS o
@) qﬁrmé’rp« (b) Fa2
(© 1aﬂtzil=i:f,d (@ Feerl
120. [@W‘%&(’”W@m%w‘iﬁ
Fretfoa & @ whand Fe w2
| e T - ST s g ws e # g
arer 2, St wferss § wie fear s |

121.

122.

2 IAXA R ¥ fr St fefaa w0 % fog
frder 2, safF ISRO A 3R AT aT&T

A @ e |
F g mo gz 3 & wh IwIF:
(a) W?ﬁlqiﬁ‘?{j (b) a2
€L 1aﬂua’ﬁﬁf‘ @ Faa]

mﬁmﬁw@n%mﬁmﬁ&r (GECP) F &=

# Prean i & SR du ad 3R 2

1. 2631, 2024 F AfterTg W e fpmr R A
feren-Frdr =t v

2. ¥ -y ot & wilis i arths wem
I GET T HEAR |

i R Ty e # & e ImgFT

(a) wa‘nw‘a”rz (b) Faa2

() 131112#& (d) FHae1
&

formmion) (Filvor) & i # frerfrfias & &
ﬁqmrﬁmm{’r%/%?

L. a‘smﬁs‘ﬁaﬁﬂ%qﬁmm
2. FWH UEE I I8 W, 2024 T THEIET

i T g A gE gt |
:ﬁ%ﬁnmﬁﬁ%ﬁamgﬁq:
(@) TAA17E2 (b) FHawT?2
(¢) 13 23E @ F=e1
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124.

125.

126.

127.

128.

129.

130.

131.

132.

DST.F-1.9
g8 wEaE Rrg S offRfieE gad TR T8 aRd 3

The only vein that carries oxygenaled blood s : 123. Faed 2 -
(a) Cystic vein (b) Pulmonary vein (@ ﬁlﬁzﬁﬁﬁm (b) et
@ Hhgpth Pooebch, oy Donlee v © Rifwdafm @ wf
. N ; iated
Diabetes is the most common disorder associate 3 i
il 2 124, Wﬁﬁi@ﬂmmzmﬁaﬁm%:
(@) Gallbladder LN(b) Kidoey G Mo - Tq;r.a
(c) Pancreas I;;;_:(d) Liver e SLEE ()
The recent global paukSHuring COVID-19 pandemic | 125, &1eT & # Rifers-19 gemr & w0 AfEF faom 5
was caused due to : AT R
(a) HSNI () SARS-CoV-1 (a) H5NI (b) SARS-CoV-l
() MERS-CoV-2 (d) SARS-CoV-2| () MERS-CoV-2 (d) SARS-CoV-2
Milk is an example of : 7 126. E}Tsﬁﬂ’ fpgrehT JaTETT 2 7
(a)  Sol (b) Foam (a) € (b) i E5E
(c) Emulsion (d) Aerosol () FIIMA (d) wE &=
The formula of baking soda is : 127, SffTEETHEEIR:
(a) Na,CO, () KHCO; (@ NayCO;y (b) KHCO;
(6) NaHCO, E(d) K,CO, Acy NaHCO, (d) K;CO;
CPR stands for: I 128. E_M.ﬁ.m.)ﬁamﬁ% :
(a) Cardiac Pulsatile%.levision () e TeleRe e
(b) Cardio Programiie[Rescue (b) TS Sy T="
(c) Cardiopulmonar{ Revision mE (c) AR e
(d) Cardiopulmonary Resuscitation E’r%‘i (d) FSATHA gsfia
A bus covers the first half of a certain distance with 129. UF 99 U fFif¥ea o Y weelt st el v, A Y w
speed v, and the second half with a speed v,. The Tt & T a7y I 2 v TR %ﬁﬁ% |
average speed during the whole journey is : o m"ﬁw%’ﬁzﬁ’ o -
@) 2vyv, . V)V 2v. vy -
—_— (b) (a) s 12 (b) 1v2
‘ v+ v, Vit v, v+ v, v + v
(c) V| Vy LM (d) TV Ll Vi + vy
v > . © vva @ ==
Plants and animals thaf'ijve on land lled :
Al < and are called 130. i R T& aret 9 SfiT ST T FEeaa € 0
(a) Aquatic hab:lant;\
o J (@) ichg Famwd
(b) Abiotic ™l )
(c) Biotic (©) S
(d) Terrestrial habitants (d) ey Bam
The joint where the neck joins the head is : @ qE SIS el meq R A e 2 -
(a) Saddle joint (b) Pivotal joint (a) Weasrs ) RaEease
(c) Balland socket joint (d) Hinge joint (c) e udHFE g d) Resie
The disease-causing microorganism among these is : | 132, 578 & {7 a1 ity arem gawshig & -
(a) Pathogens (b) Archaea (a) ﬂTlTﬂ (b) fdm
(c) Protozoa (d) Bacteria (©) BRI e (d) i
""""""""""""""""""""""""""""""""""" agp e T e
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133. 'Who among the fi :
in the Un Conain poimg won the best actress award | 133, i # & e i 1w 5078
gard cate
Film Festival, 2024 7 BUTy. oF the Gapnes o3 ford i weires arrR T e S 7
(a) Anasuya Sengupta day AT Gl
(b) Kiara Advani (b) ey st o]
(c) Sobhita Dhulipala (c) nfm :{\Farnmi i @’&q, _
(d) Urvashi Rautela ()] St Add ‘ ll
134. Wﬂ’fﬂi‘ﬁﬁﬂﬁmﬁﬁm-m/ﬁ
134. With reference to RudraM-II Missile, which of the AR (L
following statements is/are correct ? 1. -qggar.ﬁ-garﬁ TR ATt e 21
b Itisanair-to-air missile. o g 2024 3 e & faE T AT |
2. It was tested in Rajasthan in May 2024. :ﬁ%ﬁ'qnt(f{ﬁffﬂﬁmﬂﬁﬁ :
Select the 'correcl answer using the codes given below : (@) I 1TE2 (b) FaA2
(a) Neitherlnor2 (b) Only2 © 13h2 2 @) el
(c) Both1land?2 (d) Only!
i : 135, g1 - A A Hiftrg st gh F = ke
135. March List-I1 with List-Il and choose the correct Wfdﬂmﬁﬁmﬂﬁqt
answer using the codes given below the lists : a1 wid -1
P . R b 5 } 1N
Listd List-TI (@ Faaffaa T ¥48) @)
(Newly Elected Head (Country) A, T e i; . EEas
of the State) {4
A. Gitanas Nauseda 1. Techind B. QAT HAT 2. fomaw
B. Luong Cuong 2. Vietnam C. Tee SMEET 3. fergenfaar
C. Halla Tomasdottir 3. Lithuania D. W %
D. Jose Raul Mulino 4. Panama ' 3
Codes : LT
A B C D A B C D
(a 3 1 2 4 (a 3 1 2000 4
®) 4 1 2 3 b)) 4 1 2! T 3
() 2 1 3 4 E%% © 2 1 314
d 3 2 1 4 = d@ 3 2 1. 4
RN
136. What i ix-M™ 2 (30) R21ARmE-M™amd?
A at is R21/Matrix-M e _ N
(a) Vaccine against Malaria developed by Bharat (a) ampil%%' ETAE MR A frerfag geifa
Biotech International ﬁgam? o
(b) Vaccine against Malaria developed by Serum (b) R Rigge o e g fawfa mafar &
Institute of India fagars st
(c) Vaccine against AIDS developed by Bharat (c) W@ W ferivAe T el wew &
Biotech International faems et
(d) Vaccine against AIDS developed by Serum (@ e R oW e m et g %
Institute of India faers denr
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in|137. Pefifen gl @ fEm HRC T
137.  Consider the following events and arrange them in [ 137 mmﬁmﬁﬁm -
chronological order :
‘ EYE 1. g faa Raw
1. World Heritage Day 2o 9
e 2. fagumizzfRaw )
2. World Thyroid Day Ay R él%i
3. World No Tobacco Day 3 frm d
4. International Day of Light 4. 2
Select the correct apswer from the codes given below : e g e e 7 @ et 3w (REE
@ 1,4,2,3 |‘\i ® 3,1,2,4 (a) 1,4,2,3 b 3,1,2,4
() 4,2,3,1 r?~ (d) 2,3,1,4 (c) 4,2,3,1 (d 2,3,1,4
(-J-
138. Match List-1 withList-II and choose the correct| 4o -1 = g @ ghfer AR afk gferdt & = fig
answer using the codes given below the lists : T FE FT TG T gET I ﬂﬁt{ :
List-I List-IT
-1 -1
(Person) (Reason) (;?ﬁb') {;TRW)
A. Gopi 1. First Indian Gymnast to win ey
i iomatele ¥ A. Tt shergr 1. frard Sftwmafid F @t
Thotakura Gold at Asian Championship areft geeht yredtT A
B. Dipa 2. Indian born NASA scientist ST ¥ 59 NASA a3
Karmakar who led the team to study B. SUTHEEHRT 2. ﬁr‘m—gi\‘ Sl aites o
solar ecliptic impact on a;r}ﬁqa% 'SI\;'IHHET RS mane dor
| /~ionosphere areft A &1 e foram
C. Am.h 3L"_;Fust Indian Space Tourist C. e 3. g W iy vdzs
Barjatya ~d FSTET
D. DevPatel 4-+British actor who made his D. T 4. Fafes sifiar e firet 5t
g ‘\:'dircctorial debut with thriller e %mﬁaﬂﬁwﬁ
“Monkey Man” w7
Codes : A B C D
A B C D (@ 3 1 2 4
(a) 3 | 2 4 ®) 4 1 2 3
() 4 1 2 3 () 2 1 3 4
(c) 2 1 3 4 d 3 2 1 4
@ 3 2 1 4
139, Given below are two statements, one is labelled as T :ﬁ%:; e g, & (A) =
Assertion (A) and tﬁe_’oﬂxer as Reason (R). ?ﬁ (R) F&I T2 |
Assertion (A) :<'During 2023 -24, Singapore N E“;' T (A) : 2023 — 24 % 2R Ry, s 3 P
emerged as the Iaréc'gt‘ source of FDI to India. bl ST HR TR I |
Reason (R) : The-India — Mauritius Tax Treaty : E(RE) f: Emi B FT Y Fne & v A
amendment has brought a major shift in countries as b (FDI) % R ardt & w9 F it
major sources of FDI to India. T TEATS HATE |
Select the correct answer from the codes given below : Hra 'E.'E‘TU:@ LEEL mgﬁq :
(@) (A)is false, but (R) is true. (@ (A)TEEE, g (R) EET R
(b) Both (A) and (R) are true, but (R) is not the (b) (A) U1 (R) 3T W &, frg (R), (A) T @
correct explanation of (A). STEAT 78 F@r R |
(c) (A)is true, but (R) is false. (©) (A)ERR, g (R) a2
(d) Bollh (A) and (R) are true and (R) is the correct (d) (A) 7T (R) 3HT T & ak (R), (A) B @
................ el NN ST R E |
- 34 e bbb S E S
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140 ith reference to “India — Australia Economic | 140, e - afrferan anffes wedm ot =M LGl

®

e e R B L
correct ? . AT !
:. Ihhis isa ﬁlrst-ol‘-ils-kind initiative of FTAs. o ?Emr;':\ e  fom e e e
e iy e Oy gy Ko iAo
Sel ‘er usi i o I
(:)ect;l:t::rjc;::sz\\ er uz;r;g ll;:nc;:d:s given below : 3 g e e o el IT ﬂf':l'l'. : E\%%
(c) Bothland2 (d) Only]l ia; TTﬂl :i—.; ::; gf

c

141. Match List-I with List-1I ( ]\
-1 and choose the correct gﬂi%m HIfs Q‘aﬂt ‘ﬂadi T
answer using the codes given below the lists : \1:) ‘Eﬁ-[ i @-" 7 9 T "

: :Tqiaaﬂgﬂﬂ 8 It '

List-I
List-11 . 5 -11
(Joint Exercise) (Dates) q"iﬁ 1 Hr H:ﬁ
A. India— Uzbekistan Joint 1. February @ TGy gratsrl)
Military Excrcise, 19—27 A, WRA — Il agm a1 w@t 19 — 27,
“DUSTLIK"” 3094 anam, weidE" 2024
B. India— France Joint Military 2. May 13 - 26, (DUSTL_]K).
Exercise, “SHAKTI” 2024 B TG _ i U & 30T, 2, % 13 - 26,2024
C. Harbour phase of Indo—US 3. April wrfeR™ (SHAKTI)
Joint Exercise, Tiger 15— 28, C. A - Ugeh g A 3. e 15 - 28,
Triumph, 2024 2024 G AT, TR AR 2024
D. MILAN, 2024 4. March (Tiger Triumph), 2024 %1
18 — 25, 2024 FECT |1y
Codes : D. fiem (MILAN), 2024 4. v 18 — 25,
' <r 2024
A B C D e ™
é’gﬁ e : st
(a 3 2 4 1 A B H c D
B
®) 3 4 1 2 (@ 3 2 4 1
() 2 3 1 4 (b) 3 4 1 2
(d 4 2 1 3 (c)y 2 3 1 4
(d 4 2 1 3

“Shaksgam Valley”, which of the .
142. jymEmH i ¥ wee # frefafad # @ FA-AVA

142. With reference to

following statements is/are correct ? L
. . - FUA L /R ?
|.  This valley is a strategic key region, that 1s part .
of Pakistan-occupied Kashmir (PoK). 1.0 @ 9l %(“l_:j”%lﬁ ‘F‘f q trgﬁ‘-‘ff &7 T, S
2. India has lodged protest ~ against the e | i_ﬁ;‘”ara F7IT (PoK) 1 feem 2|
infrastructural development being carried out 2. ;TW agE El'l'ff‘tt ';ﬂ;r T foru s @ giam =i
by China in this valley. ferepret 'Tf_ia_ T e FET R |
i = fag ﬁﬁ'}wﬁaﬂtaﬁq-
Select the correct answer from the codes grven below : FZ ;l T :
(a) Neither 1 nor2 (b) Only2 (a) q:hl -'T_Eﬁ‘?‘ ,Qb)/%aa 2
(c) Both1and?2 (d) Onlyl (¢) 13f23m (d) Fae1
--------------------------------------------------------- 354
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143.

144.

145.

146.

...............................................

With reference to the i [ndia—lnfloncsia. Jom‘t_
Defence Cooperation Committee meeting, which o
the following statements is/are correct 7
1. In this meeting Indonesia agreed to .enh.'mce
collaboration in the areas of defence, mc'lusuy,
maritime security and multilateral cooperation.
2. This meeting was held at Jakarta
May 5, 2024.
Select the correct answer from the codes given below :
(a) Neither 1 nor2 (b) Only2
(c) Bothland2 (d) Onlyl
With reference to “FWD 200B”, which of the
following statements is/are correct ?
1. This is India’s first indigenous bomber “UAV"’
aircraft.
2. Its payload capacity is 100 kgs.
Select the correct answer from,the codes given below :
(a) Neither 1 nor2 (B)» Only2
(c) Both1and2 (@~ Only 1
Match List-1 with List-I@nd choose the correct
answer using the codes given;below the lists :
List-I {™j List-II
(Name of the City) (Period of being
Planned)
1. Post-independence
Jaisalmer 2. Colonial Period
Kodaikanal 3. Medieval Period
D. Bhilai 4. Ancient Period
Codes :
A
(a) 4
b 2
3
1

on

Kanchipuram

owp

D)
\]“‘a
i
© 5,

) ij] ki

Match List-l with List-Il"dnd choose the correct
answer using the codes given below the lists :

List-1 List-II

(Famous Local (Place/Area)
Storm)

Mango shower |,
Blossom shower 2. Kerala :
Norwesters 3. Kamnataka Coastal Areas
: '\K\f?s! Bengal

B C
3 2
3 4
4 1
2 3

Punjab to Bihar

143.

144.

145.

146.

7t v — SRR §w

~
i

DST.F‘A‘ o
& wea ufify 6

T} & Frferiad § @ S -8/ FYT GE % 9

1. 79 ¥ § 2Rl 3 T, 9, e
ﬁqﬁﬁwaﬁﬁﬁﬁ’ﬁmm

AT |

ki
s

2. T daw 5 wE, 2024/ Sl § AW
A Rre e gz # & wd IR :

Far1a€2
1 323t

(a)
(©)

(b) Fa2
(d Faa1

“FWD 200B" ¥ T & Frerferfad 3 & #-08 3

@0

1. T8 VI &7 Yl Tl aneda “UAV” s,
2. 3w deire &mar 100 fremm 2 |

A1 Ry e & T SR :
(@) AW 1TE2 (b) FAe2
© 1323 (d) Faa]

1 g1 & e iR o g H ARy
?@wg‘nmwaﬁtiﬁq:

w1 w11

(ITET FT ATH) (FSTT FATE 13 1 37ay)
A. i 1. SR H
B. Semit 2. NuFEfE Fe
C. FEHHFATT 3. HAFE
D. P 4, uEHFA
&

A B C D
(a 4 3 2 1
® 2 3 4
© 3 4 1 2
@@ 1 2 3 4 %‘_ﬂ%
A1 11 & e ifv i gfet 9 o

-1 11

@z Tt ger) (eI /8H)

A. Wt 1. 99 @ faemas
B. el 9Tl atoR 2. F&

C. Fre-ard 3. afuwfewan
D. § 4. yfimame
®e :

A B C D
@ 4 1 3 3
® 3 2 1 4
© 1 3 2 4
d) .. 3....2....4. 1
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147. Whi ; o
mm:[ld?)f the following pairs is nor correctly | 147. ﬁﬂmﬂﬁﬂﬁ?—m%ﬁg&%ﬁ?ﬂ? ?
' TraruT &
Capital
pita Country () E"?[" — g
(a) Khartoum . .
" ) == Elhlopln (b) mqanf[ = mfm
(b) Naypyidaw - Myanmar © 3 _ e
(c) Ouawa —  Canad
2 d) e - T,
(d) Dublin ~ Ireland @ g T § F=-a1 el
148. ﬁqf%—lﬁj; grrﬁ (@A 39 — ferdreram) .
148. Which one of the followin i " A % A
g pairs (Deccan Trap — { ,
Peculiarity) is not correctly matched ? P (a) ﬁaimaa - %ﬁm\?’)
(a) Intertrappean beds — Fossils of sea plants (g e — ST 1200 i
q P (b) Hﬂ‘.l i
and animals
St e - @ 450 HiZT
(b) Depth of middletrap — 1200 metres © ?Iﬁ
approximately (d) ﬁﬂ?ﬂﬁ Oy — T lSO'}'ﬂ’ZT
(c) Depthofuppertrap — 450 metres Rt e
approximately 149. :I?t :;m feq e €, 2 A THH Ay
(d) Depth of lower trap — 150 metri e\ T (R) HET T | A Hef
apprr::ir::tely s (A) : fidf fam aaq:‘f-?ra 11'{2’2
) o, S argHee § Je Jreft YA AT ® |
149. Given _below are two statements, one is labelled as IO (R) Hﬁz qroAT ht w=TE T1fer 300 — 500 fereft wfer
Assertion (A) and the other as Reason (R). ey i
Assertion (A) : Jet streams discovered during World v Eﬁq .
War 11 are high altitude easterly winds. :ﬂ%ﬁqueﬁﬁ i )
Reason (R) : Jet streams flow with a speed of (@) (A)TETd 8, ﬁ"—"i (R) wE
300 — 500 km/hour. ) (A) 3 (R) AT wE E 3 (R), (A) FT FL
Select the Fon’ect answer from the codes given below : RS FAT § | EgE
O S | o watemomn
o ) (R) are true an ) is the correc @) (A)aﬂI(R)ﬁ’m’H’tﬁﬁ,ﬁﬁ(R),(A)ﬁﬁ
explanation of (A). HB’TEFG‘IT% |
(c) (A)is true, but (R) is false. )
(d) Both (A) and (R) are true, but (R) is not the | 150. F=-1 1 g-11 ¥ gafera ifvrg ik gt & A9 kg
correct explanation of (A). T e T WENT L FEl I g
150. Match List-1 with List-II and choose the correct a1 Tﬂ_“
answer using the codes given below the lists : (5?1 {1
): f m
List-1 List-1I A ﬁ'—f’ EFIH i ST
(Country) (Mountain) ) o ’
A. Spain —France 1. Alps B. a2 2. WA
B. Switzerland 2. Apennine C. ggrnﬁ'm 3. M=
C. Bulgaria 3. Pyrenees
D. ge&t STeeh
D. Italy 4.  Balkan 4.
Codes : oe
A B C D ByE A B C D
(a) 3 1 4 2 él&i (@ 3 1 4 2
b 3 1 2 4 (b) 3 1 2 4
(c) 4 1 2 3 () 4 1 2 3
@ 2 3 1 4 d) 2 3 1 4

...................................................................................................................................
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